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1. Simplify v/54.

(A) 29/3 (B) 32 (C) 630
. Simplify V32 + /18 — /50.
(A) VO (B) 123 (©) 23
. Simplify V24 x /6.
(A) V141 (B) 12 (©) 6V
. Which is greater: 7 or /187
(A) VT (B) v/18 (C) They are equal
. Arrange in ascending order: \/g, N , /40.

(A) V3 < VA0 < /7 (B) V7 <V3< V40 (C) VA0 < V3 < V7

(D) 12v1
(D) Cannot compare

(D) V3 < V7 < V40

6. Which is smaller: (v/8 — /7) or (v/6 — \/5)7
(A) (V8 —VT) (B) (v6 —/5) (C) They are equal (D) Cannot compare
7. Compare: z =+/11, y = /35, z = v/120.
A)z>y>=z B)y>x>z C)z>y>z D)z>z>y
8. If 5 4+ xv/3 = y + 2v/3, where x and y are rational, find x and y.
(A) x=5, y=2 (B) x=3, y=5 (C) x=2, y=5 (D) x=2,y = V3
9. If Y2HY5 — a4 by/T5, find the values of a and b.
(A) a=4, b=1 (B) a=4, b=2 (C) a=8, b=1 (D) a=1, b=4
10. If ?Z\Zﬁ =a+ V0, find @ and b. (Hint: Simplify denominator v/16 4 2v/63)
+
(A) a=3, b=T7 (B) a=0, b=1 (C) a=1, b=0 (D) a=1, b=7/9
11. If a, b are rational and av/2 + bv/3 = V18 + V12 — \/5, find a and b.
(A) a=3, b=2 (B) a=2, b=2 (C) a=4, b=2 (D) a=2, b=3
12. Find /7 + 2V/10.
(A) V7 + V10 (B) V5 + V2 (C) VIO + V7 (D) VA++/3
13. Find /11 — 2V/30.
(A) V6— 5 (B) VIO - vI (C) VB — 6 (D) V30 - VT
14. Find v/15 + 4y/14. (Hint: /15 + 21/56)
(A) V14 +1 (B) V15 + 14 (C) 2v2+ V7 (D) V10 + V5
15. Find v/5 + v/21. (Hint: Multiply by v/2/+/2 inside)
(A) /372 +/7/2 B) \/7/2 - \/3/2 (C) VB+v21 (D) Yo+v2l
16. Find the positive square root of 16 + 6/7. (Hint: /16 + 2v/63)
(A) 4+ 7 (B) VO+ V7 (C)3+V7 (D) V8+ V38
17. Find /17 — 12y/2. (Hint: /17 — 2y/72)
(A) V9 -8 (B) 3 —2v2 (C)2v2-3 (D) V12 — /5
18. Rationalize the denominator: %
(4) % (B) 4 (C) 3v5 (D) 255
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19. Rationalize the denominator:

1

V6+v5’
(A) V65 (B) o/ (©) V6+v5 (D) 4P
. . - 4
20. Rationalize the denominator: T
(A) VT+V3 (B) 4(V7 +V3) (C) V-3 (D) TG
21. Rationalize the denominator: 47%.
(A) 4+1/ﬁ (B) 4 + \/ﬁ (C) 5(4+5\/ﬁ) (D) 20+257\/ﬁ
22. Simplify ?7?
(4) 2+ 3 (B)2— 3 (C) 4+23 (D) 2
23. Rationalize the denominator of m
(A) m+42—\/6 (B) \/ﬁ+42+x/€ () 3\/5—21\é§+\/?$ (D) 2¢5+¢112*o+m
24. The rationalising factor of v/9 4+ /3 + 1 is? (Hint: Relates to a® — b?)
(A) V3+1 (B) 2 (C) ¥9-1 (D) /31
25. Simplify W\ﬁ\ﬁ .
(A) V6/2 (B) V3/2 (C) 3v6/2 (D) 3v/2/2
26. Simplify \/ 4+ /15 + \/ 4— (Hint: Square the expressmn or find square roots individually)
(A) V10 <B> Ve C) 2,/52 (D)8
27. If x = 3+ /8, find the value of 2 + ?12
(A) 34 (B) 30 (C) 36 (D) 6+ /8
28. If x = 2+ /3, find the value of v/z. (Hint: Find v/2 + v/3)
(A) V351 (B) V2 +1 (C) Vo5v2 (D) V3+1
29. If = 9 — 4V/5, find the value of  + 1
(A) 18 (B) -85 (C) 81 (D) 10
30. Ifx—‘\?*’% and y = f+f7ﬁnd:r—|—y
(A) 8 (B) 16 (C) 2v15 (D) 2
31. Simplify the expression: 2_1\/5 - \/giﬁ + 3_4\/5.
(A) 3+V2+ V7 (B)5+v2++5 C)V2+5 (D)1-v5
32. The expression (\/62+2 + ﬁiﬁ + \/gi\ﬁ +2— 2\@) is equal to:
(A) 0 (B) 2v2 (C) V6 (D) 27
1 ‘o
33. The value Of f_;,_f \f-‘r\f + - m 1S
(A) 1 B)9 (C) V99 (D) V99 —1
. . 1 1 1 1 1
34. Simplity Zr—75s — Ve—ves T Ve—ver ~ ver—ves Tt avr
(A)O (B)9 (C) 10 (D) 11
35. The value \/3v/3v3... is equal to:
(A) V3 (B) 3 (C) 2v3 (D) 3v3
36. Find the value of \/30 +v30++v30+....
(A) 5 (B) 310 (C)6 (D) 7
Answer Key
1 (B) 2 (C) 3 (B) 4 (A) 5 (A) 6 (A) 7 (D) 8 (C) 9 (A) 10 (O
11 B) 12 B) 13 (A) 14 (C) 15 (A) 16 (C) 17 (B) 18 (D) 19 (A) 20 (A)
21 B) 22 (A) 23 (C) 24 (D) 25 (A) 26 (A) 27 (A) 28 (C) 29 (A) 30 (A
31 B) 32 (D) 33 (B) 34 (D) 35 (B) 36 (C)
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